[fRILT A &S liE#]
1 ERE27THE T ADSIM

BUBHKEER (104.6) [FRIBLLT 2 HREROD™E, BIFEALLE 26 B&#HiD LS.
W BROZHFMEIER (104.1) [FRIALLTREKE, RIFEALIE 26 NEA&HRD LS.
BR (BREZFR) RUOIRIVF-Z2RFE<MEER (101.8) [FRIALLT 3INBSODDLES.
RIFRRLLE 24 D A&HRO LR,

ONOR®)

2 REEE AHERZER(BAEY BH (BEER) RUIRLF—ZR{BEER

B RTH (%) AR H He (%)
(S = 5 % 104. 6 A0.2 0.5
A B OB 2 B O R A O 104. 1 0.0 0.1
BE EEZRLS) KO 2 X —2RBEHEEK 101.8 0.1 0.4

3 HIAMNLOEERUFIERA & DLLE
~RIALIE, HBREN LS, BNHATE, NFEALIE, BRNLS, 358« BENTE, ~

10 REBEH, riAL, FIERALRUVFTSE
N N N jll/:%\ej\:& ¢ %Z E ¢ %&H&&U\ | &_\‘@ ¢ = = e S = "
iy (=) ﬁ *4’ 1£ E 7J< E %%Hﬂ DEII:I E % 'f%@ [y:“fﬁ.—\ @ 1§ ﬁ B %ﬁﬁt;&% D%ZFLE%:
B 104.6]  109.4| 100.8] 112.1 96.7|  106.9 99.6| 103.8] 100.7 98.8|  108.1
H”({z)tt A02 A04 A0l AlO0 A227 A20 0.0 0.2 0.0 2.0 0.1
95 LT A 0.2 AO0. 11| A 003 A 009 A o008 A 009 0. 00 0. 02 0. 00 0. 20 0.01
H”E@ﬂth 0.5 4.8 Ao02 A28 Aa11 0.2 0.3| A 4.0 3.7 0.9 A 1.0
% b5.pg 0.5 1.23| A 0.03] A 0.25 A 0.03 0.01 0.01 A 0.59 0.10 0.09| A 0.06
3 10XEBAFBLFTEE 4 10 XEBAFIERALLFTEE
1.4 1.4
1.2 1.2
10 | 10 |
0.8 08 r
0.6 06 r
04 04
02 r . 02 L
0 rm = m = - = 00 - - B
-0.2 -0.2 l
-04 -04
-0.6 -0.6
-08 -08
-10 ‘ wE5E RIAL) i -10 r ‘ wE 5 (F4ER A L) }
-12 i i 12 ‘ ‘ ‘
-14 -1.4
B B %X T oW OB %X # K H B & % B W OB T % #H #
W E ®» B B R & B % # ¥ E ®» B B & B B X #
T R B e B A T e o
K B U B @ = X B ¥ ®m @& =
E E B = & E OB =
I BB
AR AR




